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(v) UG T — J97 GEIT 25 & 29 TG-ITT FHR & F97 & | 5% 97 3 371 #1 8 | 57
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(vi) GUEH — 97 &7 30 T 33 FH-IT1T JHR & Y97 & | I9b F97 5 bl H71 8 | 57
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(vii) GUE F— J97 G&IT 34 T 36 FT-3NETRA/ Fla-3enia 397 8 74 8 37-37 & /
eI J97 4 b BT 8 |
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question number 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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QUgE -

gl ) (20 x 1 = 20)
frafafaa o @ fra e § “Up-aefia seme’ & 2 1
(A) TIH TSI UREnT
(B) FTECs febten
(C) ¥ra
(D)

Sfeorm 61 g1 6l "reierl o gay 1 FEfaiad sl ol gfgu 3R wdl foeshed o1 ===
HT | 1
I S| o wme wfafifie areft stem awr g |

II. 5 ahR | 89 3R Sha-uTt ahrll <6t a9 9 § |

III. |THETRE T 31 TS Teh &1 W1 Siei 7ol i ohid ¢ |

IV. SgHEIT-TKIl o q8d sfesrH H %3 $heH 3814 T |

ﬁw:

A) I, II3RIV

B) I, 13RIV

(C) IL III3WIV

(D) I, 113 III

frferfga el 6 @ - gafea 8 2 1
(T wfaem o fowet 6 g=h) (fr)
(A) g g faw . EL
B) TG w1 o —  Torem
(C) THadl o=t = forva — TG
(D) Tehl o= T —  foare
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1.  Which one of the following countries has ‘one-party system’ ? 1
(A) United States of America
(B) United Kingdom
(C) India
(D) China

2.  Read the following statements about power sharing arrangement in

Belgium and choose the correct option. 1
I.  Brussels has a separate govt. with equal representation.

II. Dutch & French speaking ministers are equal in Central Govt.

III. Community Govt. is elected by People belonging to one language.

IV. Series of majoritarian measures adopted in Belgium.

Options:

A L ITandIV

(B) I, IITand IV

(C) 1L III and IV

(D) I,II and III

3. Which one of the following pairs is correctly matched ? 1
(Subject List in the Indian (Subject)
Constitution)
(A) Union List Subjects - Communication
(B) State List Subjects - Education
(C) Concurrent List Subjects — Adoption
(D) Residuary Subjects - Marriages
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4. Tratataa st o1 ufeu 3R feu Tu foshedl # @ Wi wfayum ° 3feailad g8t sree 1
Wﬁﬁm:

o AN Uy 7 foret oft erd <h1 Urehig o o w9 H 37l A8 foran 2 |
o WG H ford oft & A1 UTeH v 3T YRR ohid hl 3ANET B |
ﬁm:

(A) TR
(B) Y-
(C) wHTSad
(D) vt

5. TY-1 1 faeTe @w-11 & hife 37t &g fashed =1 93+ hifSw

ww- -l

(HHT) ($R)
L ﬁ‘g!: a. IS
IL. b. W wEA
. =™ c. LCIE K]
IV. @& d. @ 3R 9’ wEA
ﬁw .

I II III v

A d a c b
(B) ¢ d b a
(©) ¢ a b d
(D) d b a c
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4. Read the following statements and choose the correct term mentioned in

the Indian Constitution from the given options : 1
o There is no official religion for the Indian State.
o There is freedom to profess, practise and propagate any religion
in India.
Options:
(A) Republic
(B) Sovereign
(C) Socialist
(D) Secular
5. Match Column-I with Column-II and choose the correct option : 1
Column-I Column-II
(Crop) (Type)
I. Wheat a.  Millet Crop
II. Ragi b. Beverage Crop
III. Tea c. Food Crop
IV. DMaize d. Food & Fodder Crop
Options:
I II III v
(A) d a C b
(B) c d b a
(©) c a b d
D) d b a c
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6. Harh feferfad ferowanati w1 ufew 3iv fou o foskedt # & ey 1 vgam HIfe |
o g fokga ®u H et 55 SR el e 2 |
o SUUHCHIHASIR |

o Y, fiee 3R gl u ST £ |

fopey :
(A) el gaT (B) shredt gaT
(C) TeUse gar (D) e qa

7. Tk Tum o qfd o fote @& forere o1 ==m i |

Fefees @fis JAYH
mﬁ@ﬁsr: ............
(A) TehRfde T (B) wledTse
(C) TS (D) &fem

8. Trfefied 4 @ +H-41 Siet @&l gaferd & ?

KSis! I
(E) (3&h)
A) ke g TR S
(B) He3H =k gt Shferarnd
(C) Tmg=lesh AR
(D) wrEh & B IR IS TGS
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6. Read the following characteristics of a soil and identify the

given options.

It is widely spread and important soil.
Northern plains are made of it.

It consists of sand, silt and clay.

Options:

(A) Yellow soil

(©)

Laterite soil

(B) Black soil

(D) Alluvial soil

7. Choose the correct option to fill the blank.

Non Metallic Mineral :

Energy Mineral :

(A) Natural Gas

(C) Manganese

Mica

(B) Bauxite

(D) Platinum

8.  Which one of the following pairs is correctly matched ?

List-1
(Author)
(A) dJyotiba Phule
(B) Sudarshan Chakra
(C) Rash Sundari Debi
(D) Kashi Baba
32/2/2/21/BBCA2
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(Book)
Amar Jiban
Sachhi Kavitayen
Gulamgiri

Chotte aur Bade Sawal
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9. TrferRad seansti o1 st T O Safe fifve ik wd fascr = hifvme | 1

I. &gl gty
II. 2% 1 & ! Wl YeH ]

1. ST Ty

IV. Juifera &Y amifes dfgar
Terered

(A) IV, 11,1 &III

B) IILILIV&I

(C) IV, I,1I & III

D) LIV,II&II

10. U9 el “Agiq mieshie’ fFmfafgd O 9 form fommeam @ geféa en ? 1
(A) wHSETE (B) SeraTd!
(C) wwrt (D) wHEETE

11. F=fofgd § 8§ SR gom™ @’ (BMI) & qodiehd & Hafod Tal fashed i =
HT | 1

(A) Tad =TT T 3ThoH

(B) T b T T 3Teheld

(C) I Sl T T ATeheH
(D)  3Tc9 UIYUT ST SHATehei
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9. Arrange the following events in chronological order and choose the correct
option. 1
I. Treaty of Constantinople
II. Hamburg granted autonomy to Hungary
ITII. Balkan Conflict
IV. Napoleonic Civil Code
Options:

A IV, IL I &III
B) ILLILIV&I
C) IV,LII &III
D) LIV, I &II

10. The German philosopher ‘Johann Gottfried’ belonged to which one of the

following schools of thought ? 1
(A) Socialist (B) Liberalist
(C) Romanticist (D) Marxist

11. Choose the correct option regarding ‘Body Mass Index’ (BMI) from the
following. 1
(A) Assessment of Blood Pressure
(B) Assessment of Blood Sugar Level
(C) Assessment of Body Composition

(D) Assessment of under Nutrition
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12. Svdier & feferiad qaeatl =l 37 foaatr o a1y sy 3R Tt foehed w1 =2
FHifeT |

II.

III.

IV.

(A)
(B)
(©)
D)

Tl
CESERLEY
“Heftfirs =it

SR ICHIhTUT

I IT 11
a b ¢
c d a
d ¢ b
b a d

G-I
(feraraom)
a. To=mi, goat iR e &
HTH-5qH
b. g ol H A Hatai
c. 3T, YIAI U HER § Ta=IR

d. YR R YfdEy geMET

v

13. Trfafiga § & iH-91 Sk gra € ST arelt =01 Tiafafr s sl 3ewd 2 2

(A) 31 Toie ST o AT TcreTe st

(B) <hat STAfHeh &eh i ATH TgaM1

(C) EUER U 1 3™ F@HT

(D) 3Tiep TerehTd ot TmeT T
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12. Match the following aspects of globalization with their descriptions and

13.

choose the correct option.

List-I
(Global Aspect)

I. Technological

Advancement

II. Liberalization of Trade

III. Cultural Exchange

IV. Multinational

Corporations
Options:
I II I
(A) a b c
(B) c d a
© d c b
M) b a d

v

List-1I
(Description)

Interaction of ideas,
values and traditions
Companies operating in
many countries
Innovation in
manufacturing,

communication and

information

The removal of

restriction on trade

Which of the following is the primary purpose of loan activities offered by

banks ?

(A) To compete with other financial institutions

(B) To generate profits for the primary sector only

(C) To increase income of MNCs

(D) To support economic growth
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(C) 3rEfea &k
e : FrafRea w7 wee gferfia waii % e T d@n 14 Fwmw e |
frmferfaa o & i-a1 3uw wnfsd &= & defa 2 2

(A) TEad B
(C) Pty fershar

(D) HTESIS &

(B) wgugt et
(D) FER I

15. Tr=faRed § & wF-1 e e gafed 8 2

(A)
(B)

(©)
D)

(3releTaee T &%)
rerfieh &k
[ERERA PR
LNIRERAEED
wrerfih &k

(3qTET)
st
TG
e A
EUSH

16. WH T 6 T Aigeal § =R 9NER § | 3 IR 9NER! &l Tk GHIE 6l 37T FHH:
% 2,000, ¥ 5,000, T 3,000 3R T 6,000 & o1 Higea! sl HTHIGS 3TEd AT 8O —

(A) T 4,000

(C) % 2,000
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14. Look at the given image. The work done in the image comes under which

one of the following sectors ? 1

(A) Organized sector (B) Primary sector
(C) Unorganized sector (D) Public sector
Note: The following question is for the Visually Impaired

Candidates in lieu of question no. 14.

Which one of the following enterprises belongs to the organized sector ? 1
(A) Independent Freelancers (B) Multinational Corporations
(C) Street Vendors (D) Cottage Industries
15. Which one of the following pairs is correctly matched ? 1
(Sector of the Economy) (Example)
(A) Primary Sector - Tailor
(B) Secondary Sector — Fisherman
(C) Tertiary Sector — Astronaut
(D) Primary Sector — Courier

16. Assume there are four families in a locality. If the incomes of these four

families in a week are ¥ 2,000, ¥ 5,000, ¥ 3,000 and % 6,000, then the

weekly average income of the locality will be — 1
(A) T 4,000 (B) %5,000
(C) 2,000 (D) % 1,000
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17. Tk v i gfd o fore Tt foshed w1 =@ it | 1
& & Y IR 3G9 TR Y o AT H TR FHESAT T I 8 |

A) 10 B) 7
©) 5 D) 8
18, T=fetfaa wmaisti & & i -t vy faem i sedt s 8 aftifad § 2 1
(A) Bt (B) TSEYH
(C) Treareht (D) 3fea
19. Fr=faRad ¥ & -4 Fehdd 1 goivd fagr 8 ? 1

(A) U SARE T A6
(B) SMTd HHEE! 1 IMEH
(C) Tl o |1 AT hT IMEA

(D) T IHET T I

20. = < %Y few T B | A HAERYT (A) 3BT (R) & | SF1 HUAT 1 UfeT IR wE
ferehed 1 =3 IS | 1
IANHAT (A) :  TiE IR Whicere o &g TR 36 A (1707)’ | FA5CE T ATh

e oA’ o1 TTeH 53T |

HRO (R) : $0I ThiCeis TR STYAT T STHMT AT T |
Toreew
(A) (A) 3R (R) aHI HEl & 3R (R), (A) ! e AT HT1 1 |
(B) (A) 3 (R) M wEl &, Wg (R), (A) hl & SATe T8 31 € |
(C) (A) e, g (R) T 2 |
(D) (A) 7T B, 7g (R) €1 % |
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17.

18.

19.

20.

Choose the correct option to fill the blank.

Literacy Rate measures the proportion of literate population in the

years and above age group. 1
(A) 10 B) 7
©€) 5 D) 8

Which one of the following languages is included in Eighth Schedule in

Indian Constitution ? 1
(A) Hariyanavi (B) Rajasthani

(C) Garhwali (D) Odia

Which one of the following is a fundamental principle of democracy ? 1

(A) Rule of single individual
(B) Rule with hereditary norms
(C) Rule of people with freedom

(D) Rule of military chiefs

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : ‘The Act of Union 1707 between England and Scotland
resulted in the formation of ‘United Kingdom of Great Britain’.

Reason (R) : England wanted to impose its influence on Scotland.
Options:

(A) Both (A) and (R) are true and (R) is the correct explaination of (A).
(B) Both (A) and (R) are true but (R) is not the correct explaination of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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21.

22.

23.

24.

25.

26.

27.

28.

29.

T Ug-§ (4% 2=28)

(3far org-3ad W)
Sferst a1 <At FrRel Heter ¥ forg TR i 2 smen hifv | 2
“1815 H 09 T T Efeare) e Sewermd fgpsr off |” &g 2 deh gt 38 YA 6
g =it | 2
(a) & fatg TR Y90 Y § 37w w7 T | 2
JAYCT
(b) T® 3R TIE I FdaT H A TE HIT | 2
‘ITAT- AT AN o T o & f= 81 Tohd & |’ 39 e oh! ST 38N Hied
$||\3Q| 2
TquE T (5 x 3=15)
(T 79 )
(a) SYMS HT A T8 & JT A Tees uml’ form YehR =TaTies Tdeht 1 Tk Sfiad
ISR AT ? T8 HIT | 3
JAYAT
(b) I BT H UEA o 1 H e U1l fohe Tehr U Genl o o= HIEhldeh 3MeH-
YeH FeTd & 7 T HIfT | 3
Farfrmtor 3em i T Al G o9el a8 1 39 Y &1 =IEETd 38Uy | 3
“CR < STIHTEYT H 19 &1 hl Th Haaqul Heh1 § |” ¢feh Sfiar o IETeL0N o |1
34 YA i gfF iR | 3
Alehe § THees gatl gra Fivs S are) fermel i e ht samen hifse | 3
TTHIOT FHTS H USATR o1 GG oh ToTT s oF el SifT 3TR I6h! ST I | 3
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SECTION - B (4 x 2=28)
(Very Short Answer Type Questions)

21. How is horizontal power sharing different from vertical ? Explain. 2

22. “Conservative regimes set up in Europe in 1815 were autocratic.” Support

the statement by giving any two arguments. 2

23. (a) Daifferentiate between Intensive Subsistence and Plantation Farming. 2
OR

(b) Differentiate between Kharif and Zaid cropping seasons. 2

24. ‘Different people have different notions of development.’ Explain the
statement with examples. 2

SECTION - C (5x3=15)
(Short Answer Type Questions)

25. (a) How was the ‘Silk Route’ an example of vibrant pre-modern trade ?
Explain. 3
OR
(b) How did food promote long-distance cultural contacts in the
pre-modern world ? Explain. 3

26. ‘Manufacturing sector is considered the backbone of an economic
development.’ Justify the statement. 3

27. “Tertiary sector has a pivotal role in the economy of the country.” Support
your answer with day-to-day examples. 3

28. Explain any three responsibilities carried out by the political parties in a
democracy. 3

29. Give any three suggestions to increase the employment in rural society
and explain them. 3
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T Ug - (4 x 5=20)
(&3 w3 )

30. (a) “Tcamg 1 MEETEl R, T i e 3T A= & faeg TN WA A B 17
3TN Gfgd 39 %Y 6l e hifsu |
YT
(b) S~edt ut % nfer ¥ vrd ¥ faftr= Tyer, &= an yTostt & Heg 37enT- 37l
TG - AT 31U 1 HTE hdl frehfira foham 7 SeTeXvll Hfgd Same shifs |

31. (a) oTfe fasm & foTw Soll U IMUTA STawIhdr FI & ? ICEWH Afgd wE
it |
YA

(b) Wi fhT TehR 3UeTedl B1d & 7 IETEX0T |fgd T HIRT |

32. (a) CAhdIIeh GLhR v ThR TR, TR 3T 3y Bl & 7 T8 i |

YT

(b) AIhad fohd TSR ATHTISI =TT TR FHT ! 9GTaT <dl & 7 TI¥ HIfT |

33. (a) “YTENfTEh § fist I 98 T Heh & e Aveienor i wisham shi Icifia fomam |7
39 Y h ICTEN Higd AT HINT |
YT
(b) “ferceft mam qe faesft frarm ife, Sgrtiertor it Jvefiertor < Uge] & |7 38 ®eF
=) IeTEn gfgd =aren Hifv |
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SECTION - D (4 x 5 = 20)

(Long Answer Type Questions)

30. (a) “The Gandhian idea of Satyagraha, emphasized the power of truth
and struggle against injustice.” Explain the statement with
examples. 5

OR

(b) How did people belonging to different communities, regions and
language groups develop a sense of collective belonging in the late —

nineteenth century India ? Explain with examples. 5

31. (a) How is energy a basic requirement for economic development ?

Explain with examples. 5
OR

(b) How do minerals occur ? Explain with examples. 5

32. (a) How are democratic governments accountable, responsible and
legitimate ? Explain. 5
OR

(b) How does democracy promote social justice and equality ? Explain. 5

33. (a) “Rapid improvement in technology has been one major factor that
has stimulated the globalisation process.” Explain the statement
with examples. 5

OR

(b) “Foreign trade and foreign investment policies are the aspects of
liberalisation and globalisation.” Explain the statement with

examples. 5
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e - (3x4=12)

34. fr=fafga gia =1 ufen 37t 35 = feg 7w g o 3¢ fefan
e <ht werR ferfereran

T | ferat wreTd 8 2 38enT AT 39 o1 91 R wtar 2 fop 3mg wmwnai b e

fore T U & | 30 R § 3Tfehd THaH =1 2011 1 SFRIIFT & SRl § FHd
BT 3 | 38 SHUET H @R A 1300 § SATET STEHT-3TERT HISIST ol 7T AIGHTT o &9
T S U AT | 3 TS I S TgE@ WIS & H1 qgag H G T 7 | -

forn e B | Ueh wgEgd & W ot SoET A 121 ygw wierd g g | 3 E 22

WTSI3T 1 IR |faem™ St STed STIgEt § @1 T & 3R 36 R0 = 3gd
WTNTC a1 ST & | STeh! 31 TR-3TIE[Id W had & | WTHT < TH1E § WRA g

qyed: g4 e fafauar aremnesn g |

(34.1) 2011 =T 9RA ! SHTUMHT H FehaT WINT3TT < HITHTST < €9 H g1 TehaT 7T ?
(34.2) SIUMT FUTE T WIS 1 ohdl Tg foha T 2

(34.3) WIIST 1 WRA <l TS I H et g1 WS fafaed § fopg wR
T AT & ? AT HfT |
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SECTION - E (3x4=12)

(Case Based Questions)

34. Read the following extract and answer the questions that follow : 4
Linguistic diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the Census
of India held in 2011. This census recorded more than 1300 distinct
languages which people mentioned as their mother tongues. These
languages were grouped together under some major languages. For
example, languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together under
‘Hindi’. Even after this grouping, the Census found 121 major languages.
Of these, 22 languages are now included in the Eighth Schedule of the
Indian Constitution and are therefore called ‘Scheduled Languages’.
Others are called ‘Non-Scheduled Languages’. In terms of languages,

India is perhaps the most diverse country in the world.

(34.1) How many languages were recorded as mother tongues in the

2011 Census of India ? 1
(34.2) How were the languages grouped together in the Census report ? 1

(34.3) How does the inclusion of languages in the Eighth Schedule of the

Indian Constitution contribute to linguistic diversity ? Explain. 2
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35.

36.

freferRaa & w1 ufeu 3TR 39es = fou 7 et o 3w fofau -

5T 3R e
Hfga 316G <hl dTehd 1 TG ThER TR GRT ITeh! A ST <hl hifvmel & frerar
2 | 3Nufrafirs weme ghen YRd § W g8 aam feRarel TR A -ufeRrstl W AsR
TEAT o1 3R 3 i FRra 6t o fofl g | i a1 LT o |
g fovadg < G, R 181 f9W < &4, 22 TR ol SHd ot get off | 70 &
18 7 TN 3TC T %1 S8 Gg I a8 L o1 3 THeN | T o 1HH R
wyga gfifa 3 1919 § faf= st & Rges St anfe siarsat = 3R e s
fean | Tgdt Tovagg <l YwaTTd W, YA & STraf-=m uTid form 7, diih gg-qad
Tt =1 de fopa ST 9o | WRA BIGH 3geH & S quT9 e $E % dgd HER Bl
off | 37T 1942 T ThdiaA 90 TGS T gHA foham 1T |
(35.1) 3SR TR WA THER-T31 9T 51 W& o 70 @ adieh 9T oft ?
(35.2) STUaTTe TLRRY ST + I I g foha 2
(35.3) TUTER-HT W ‘S ilfd’ o TWEl o1 foweryor HifT |

FrefeTRead & =1 dfeu 3TR 37eh = e 7T 71 % IR fafav
1 AR

FISHe e 8 79 (JTSR) Teh Hew@qul SiTett SIS & | 1973 H JTfeehiia « urn foh <1
T 204 Srared) < TRY ¥ ST hl §@AT AN §&A 55,000 ¥ TH A 1,827 & TS
2 | ST <l AR 3T SR o 1T 37aer fRTehr T, STTamee Tet =i fape, 9ieH &
ToTQ, afrarwares STelt IS hl H@ S BH1 3T SHEEA § Jig STEl shi Hed! T %
& HRUT 2 | STET Shl Wt o1 SR, 3T 37T gfei o1 ufRrs ool § wiawra siwfern §
SRIRT o 10T I8 AT TorH 8H <l SR TR IE T8 @ | Sffeh WA STR Tt G <hl Q- figTs
el <l STTETE U BT &, 37: I o & WK, TRt 3T TR-THFH SR i FTell b
g R w # |
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35. Read the following source and answer the questions that follow : 4
Print and Censorship

The power of the printed word is most often seen in the way governments
seek to regulate and suppress print. The colonial government kept
continuous track of all books and newspapers published in India and
passed numerous laws to control the press.

During the First World War, under the Defense of India Rules, 22
newspapers had to furnish securities. Of these, 18 shut down rather than
comply with government orders. The Sedition Committee Report under
Rowlatt in 1919 further strengthened controls that led to imposition of
penalties on various newspapers. At the outbreak of the Second World War,
the Defense of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India Movement came
under its purview. In August 1942, about 90 newspapers were suppressed.
(35.1) What method did the colonial government employ to keep track of
Indian newspapers ?
(35.2) How did the colonial government’s laws affect the press ?

(35.3) Analyse the impact of ‘Sedition Committee’ on Newspapers.

36. Read the following source and answer the questions that follow : 4
Project Tiger
Tiger is one of the key wildlife species in the faunal web. In 1973, the
authorities realized that the tiger population had dwindled to 1,827 from an
estimated 55,000 at the turn of the 20th century. The major threats to tiger
population are numerous, such as poaching for trade, shrinking habitat,
depletion of prey base species, growing human population, etc. The trade of
tiger skins and the use of their bones in traditional medicines, especially in
the Asian countries left the tiger population on the verge of extinction. Since
India and Nepal provide habitat to about two-thirds of the surviving tiger
population in the world, these two nations become prime targets for

poaching and illegal trading.
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T TSR forve Y Sgade o= Sie afEieHTST # & U g 3T 3Heh! 33T 1973
35S | STEl HIRTU 6T Ueh Heha T TSIl ol ST ShT SRITE 8l &, 31U SeehT 363 w1gd &1
3R o SFATT <l ft SMT & | STATEUE | SHiele TP I8, UfTan et H Feted TE
UM, AT Y1 H F1EaTg TP I, TR H GREhT o S Wjﬁ‘a’ﬂ (sanctuary),
3| § OWg 919 {6 (reserve) 3R e # URER & {59 (reserve) WRA H €™
TV IR & FS IETET & |

(36.1) “STH URAISHT < ST TRET o foTC Teh Hewaqul shed @i HIHT TR 2 1
(36.2) Sfoh ST HTETE H WA + 1 YfHeh1 fwTS 2 1
(36.3) o= Sfid SISTfel 3 foTC feregll 31 T el o1 3ecid ShilvTT | 2
Qug -9 (2+3=5)

(R e i 399)

37. (a) TeU TTU vRE % Toifoe ET-aHfes o 9 2IH A 3K B % 9 o guiv g |
FrafaRaa Seerl <t TEraT 8 32 TEETY 37 3 HE A 3% qHIg Tl T8

W@t W fofe 2x1=2
() I TAE SRl M 5 THeh ST areT | 1
(i) o8 T STET YA TP S T MM 1920 H 53T | 1
(b) WA % T T WaT-AM W f=fafad § & fordl i 1 3ugh =i &
auTEd 37N I 7 forflam - 3x1=3
() AT — Sy 1
(i) HeTIIHH — TTHTY] Sl §IT 1
(iii) STCE — AR SRNEh! uTeh 1
(iv) HHTIS — TqE TR T 1
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“Project Tiger”, one of the well publicised wildlife campaigns in the world,
was launched in 1973. Tiger conservation has been viewed not only as an
effort to save an endangered species but with equal importance as a means
of preserving biotypes of sizeable magnitude. Corbett National Park in
Uttarakhand, Sunderbans National Park in West Bengal, Bandhavgarh
National Park in Madhya Pradesh, Sariska Wildlife Sanctuary in
Rajasthan, Manas Tiger Reserve in Assam and Periyar Tiger Reserve in
Kerala are some examples of the tiger reserves in India.

(36.1) Why was ‘Project Tiger’ considered a significant step for Tiger

Conservation ? 1

(36.2) What role did India play in the global tiger population ? 1

(36.3) Mention any two major threats to the wildlife species. 2
SECTION - F (2+3=5)

(Map Skill Based Questions)

37. (a) Two places A and B have been marked on the given political outline
map of India. Identify them with the help of the following

information and write their correct names on the lines drawn near

them : 2x1=2
(1) The place where Gandhiji broke Salt Law. 1
(11) The place where the Indian National Congress Session was held

in 1920. 1

(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Salal-Dam
(11) Kalpakkam — Nuclear Power Plant
(i11) Bengaluru — Software Technology Park

e

(iv) Mormugao — Major Sea Port
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e : FrfcTRaa S e gresTiea SdETei o foTg s @ 37 % TUM W3 |
[ERIC RN I

(37.1)
(37.2)
(37.3)
(37.4)
(37.5)
(37.6)

39 T 1 A ferRae srgt miefsht 7 THes e drer |

3 TAH 1 A feTRaT STET TR TER 10 1 SATEIH 1920 T g3 |
39 T o1 919 farfau st fegd st feua & |

38 T 1 T foaRau et seteens T St g e § |

39 U= o1 1 Torfau St&t argman agsl uaq feua 8 |

39 U= %1 A foerflau &t shepe T Senfieht ursh saferd g |
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Note: The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 37. 5x1=5
Attempt any five questions :
(37.1) Name the place where Gandhiji broke Salt Law. 1
(37.2) Name the place where Indian National Congress Session was held
in 1920. 1
(37.3) Name the State where Tehri dam is located. 1
(37.4) Name the State where Kalpakkam Nuclear Power Plant is located. 1
(37.5) Name the State where Mormugao Sea Port is located. 1
(37.6) Name the State where Bengaluru Software Technology Park is
located. 1
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e 9. 37 & Tl At
Map for Q. No. 37
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